Lesson 19

Passive voice



Passive voice

In the passive voice the subject is inactive. The one active is the “agent”. In English
and Swedish passive sentences give prominence to the direct object of the active
sentence, which is now upgraded to the subject of the passive sentence. English
constructs passive by means of an auxiliary verb whereas Swedish has a

morphological passive (in -s).

Active sentence: Passive sentence:;
The man killed five mice. Five mice were killed by the man.
Mannen dodade fem moss. Fem moss dodades av mannen.

Passive construction is also common when there is no known or mentioned agent:
The boy was killed in an accident.



Passive in Balochi

The passive voice in Balochi is only used when there is no known or
mentioned agent. As soon as there is an agent, Balochi NEEDS to use

the active construction. The use of passive voice is rather limited in
Balochi.

The passive form is constructed by means of the infinitive + a finite

form of the verb bayag to be, to become’. The passive can be use in all
TAM-forms that occur as active forms.



Present-future indicative passive

Infinitive of the main verb + present-future indicative of bayag

koshaga (najbdn 'l will (not) be killed.” Jla(=) s
koshaga (na)bay "you will (not) be killed.” (=) S
koshaga (na)bit "he/she/it will (not) be killed.” (<) Suis
koshaga (na)bén "we will (not) be killed.” (=) s
koshaga (na)bét 'you will (not) be killed.” () S
koshaga (na)bant they will (not) be killed.” cxiy(5) S




Examples

Tan é garr kdchaga bit, janénay marda kayt o rasit.
RUITT RPRCIV S PR EN TR NG g P g

‘Before this tunnel is dug, the woman’s husband comes back.’

Taw pahell kanaga nabay.
. ;.. - /S S a@_‘ j:u
‘You will not be forgiven.’



Present-future subjunctive passive

koshag bebdn/mabadn ‘| may (not) be killed.” e/l S
koshag bebay/mabay "you may (not) be killed. s/ —is SiS
koshag bebit/mabit ‘he/she/it may (not) be killed.” e/ KiS
koshag bebén/mabén ‘we may (not) be killed.” cise/ i K

koshag bebét/mabét 'you may (not) be killed.” s/ SiS
koshag bebant/mabant ‘they may (not) be killed.” <xise/Cuin RS




Examples

E mardom béyad ent koshag bebit. .y K& el Al a3y ) “This
person must be killed.

Degaran ér majanét o iraz magerét, tanke shoma ér janag mabét.
i Kan il Lad 4Gl ey S 3l ) 5 Cadiaa i) o R

‘Don’t criticize and find fault with others, so that you may not be
criticized.



Past perfective passive

KOS
KOS
KOS
KOS

KOS

KOS

hag butan 'l was killed” (i s SiS

hag butay ‘you were killed’ —iis SuiS
hag but ‘he/she/it was killed” s &S
hag butén ‘we were killed’ o s SiS
nag butét 'you were killed” < s Sss

hag butant ‘they were killed” < 5 &S



Examples

E ketab kadi nebisag but? $< s S 535 S | "When was this book
written?’

A gén may romba hér kanag nabut. .<ss &S 3 Ly e R 1'He was
not included in our group.’



Past imperfective passive

gendaga butan ‘| kept being seen’ (bis Sak

gendaga butay ‘you kept being seen’ i s (8K
gendaga but ‘he/she/it kept being seen’ < s (Ka&

Z

gendaga butén ‘we kept being seen’ (i p K
gendaga butét 'you kept being seen’ < Lk

gendaga butant !they kept being seen’ Cail g €&

This form is negated by na-

gendaga nabutan oss LaR | was not being seen (for a prolonged time)’



Examples

Na mah gendaga but o na estar. . Jtiul 43 5 i Rak ol 43 “Neither the
moon nor the stars were visible (for a prolonged time).

Réch ham gendaga nabut. .2 s Rk aa = 5,5 'The sun was not visible
either (for a prolonged time).

Har réch man béezzat kanaga butan. .0lis &S @) e 730 2 I was
being insulted every day.’



Present perfect passive

KOS
KOS
KOS
KOS
KOS
KOS

hag butagén ‘I have been killed” & sy S

hag butagay 'you have been killed’ &5 5 S8
hag butag ‘he/she/it have been killed” s &S
hag butagén 'we have been killed’ ¢ 3 KiS
hag butagét 'you have been killed” <& 5 SiS

hag butagant ‘they have been killed” il 8 53 &S

This form is negated by na-
koshag nabutagdn & s &3S | have not been killed’



Examples

Shoma koja rah dayag butagét? i s Kiia o)y WS Lud "Where have you
been sent?’

E mardomani hdn pa ché réchag butag?
i Saiy a4 03 el e o |
‘Why have these people’s blood been spilled?’

Shomara é wék o twan dayag nabutag. .Xiss S 55 5 Sl o )1 jlad
‘This power and authority has not been given to you!



Past perfect passive

koshag butagatan ‘I had been killed’ (lXs s S
koshag butagatay ‘you had been killed’ =518 5y KiS
koshag butagat ‘he/she/it had been killed’ <X 5, WS
koshag butagatén ‘we had been killed’ ¢ilX5 5, WS
koshag butagatét ‘you had been killed’ <l X s Sk
koshag butagatant ‘they had been killed’ <l &3 5 S8

This form is negated by na-
koshag nabutagatan JblXs s &S °| had not been killed’



Examples

E kdsed cha badshahay némagd rah dayag butagat.
Ol S o)) Ban alioly 4a aulS |

‘This messenger had been sent on behalf of the king (lit. from the king’s
side).

Warak pésara tayar kanag butagatant.
‘The food had been pepared in advance.’

(note that food when it is not generic, i.e. when it refers to some specific
food, is a plural concept in Balochi)



Counterfactual passive

gendag (be)

gendag (
gendag (
gendag (
gendag (
gendag (

ne)
he)
pe)
he)

he)

outéndan ‘| should have been seen’
outénay you should have been seen’
butén ‘he/she/it should have been seen’
outénén ‘we should have been seen’
outénét 'you should have been seen’

outénant ‘they should have been seen’

This form is negated by ma-
gendag mabuténan (lili sse L2 ‘| should not have been killed’



Examples

E 16g bayad ent baha kanag butén. . s &S Lo <l o K31 ) “This
house should have been sold.

Drégata é ketab hechbar nebisag mabutén.

O gie S yuaa QIS ) UG 4o

‘How good if this book had never been written!
drégata = | wish that, how good if, what if



